AR 5T {45 8 &5 8 (— A i i)

fF xR SM744 8288 (A X  Bh )
N BR5E Bk 5 1 #%
= =
R PEO ey | Tae | em | =@ || %
EEBR] 59 5 770 690|[%2 | & U5 | BE N
L EN=E 3 10.2 7B 1,100 900||E I
EX] 100 | 10k 1,900 500||4& [if] [FE i
Fgy—>mR—IL 10k E R B
LARX 3.9 A 1,710 500||E I |12 il [ £ E
Jawal)— 1.3 3k 790 600||%& [if]
=E 1.4 3k 1,300 770]1< Wi
INEE 0.1 100g 80 50|k k& L8 fif]
EH 1.0 5k 26,400 16,000][%& [if]
K 3E 16 | 200g 40 15||l& fit]
INIE 3.5 200g 65 53 43||4E [if]
FShAE 1.2 | 180¢ 170 32||%& i
xR 0.2 2k 2,280 600|[%E [if] [BE N
=% 0.2 150g 125 80 75||3E il
3E 0.3 100g 50 12 [if]
HDIE 0.1 100g 90 60|l ya
KE 0.1 100g 350 X 7
/371 0.1 5k 3,750 & =ALE [it]
SxoRVAITA 2k 12 [l
WAITA 2k 12 fif] | K Al
FLELWLAITA 2k B R B|X AN
AS 3.4 10K 2,700 2,200 1,500| |5 AR I}
FEE 2.2 10K 2,500 1,900| |8 X = I =
# 10K 12 fif]
MhOEE 200g 12 fif]
] 0.5 5B 2,900 1,910 700|li& =1
ES 10k = [ | BE A= g
EH 119 | 10k 1,700 850||1& |5 XE 5%
HEE 1.1 5k 1,900 1,500 900||#E A B 5
Lon'lrd 39 | 10k 4,600 2,200||E BE B B
EX2 0.4 4k 4,500 RE 2N
() 16 | 500g 188 110||4& ]
mF 0.1 B 1,548 1,290||#& fif] [HE X
k= hk 3.8 4k 1,920 600|415 fif] [FE A
=g 15 200g 114 100 80||&E LS [if]
= 1.4 10k 2200 2.000|[=Z=2—>—
E—<> 1.8 = 2,300 1,400||X o E EE R B
A 6.7 5k 2,340 1,600 800||& FES I [HE 7N
I/)XE 0.8 | 100g 40 27||& FIES »E [
SELHE 0.7 100g 45 412|152 [if]
SELHLE 0.7 200g 80 70||%& [if]
EHE 04 | 100g 160 40||%& fif] [ BE AKX 7
EUVE 0.2 100g 95 85|IE 5 (3T o)
+5 5 A AR KT REGFETHS
E?*EB A l:l-l- 842 a%*zﬁﬁ;w

REDMRIEE KEEFE
ABRTR ROHE




ARFT &R & & (— i)

% % gﬂ 2025E4H285 (H) 351'% I_EEJ (*HE“)
S R = il A
PO —}
BB BEO wp [T mE | o@E | B B
HELD 1.9 P 600 444 60| |%E A
Wb ISA 0.5 P 488 290 118||{& =i
H 50 07 | % 261 230||IE ¥
TG 13 | 18K 6,380 3,800||88 K
RS )—> | 01 | 8K 7,000 5500|[88 &
E#gSsT)—2 | 04 | 4K 3,800 3,000||gg &
s—Hrrar| 02 | 5K 3,390 2200||E &
L/ Ay 04 | 5K 4,700 2680|828 &
INFT 27 | 13K 3,300 TJ4)E Y
Lo 08 | 17k 8,500 F—2r507
LEY 03 | 17K 9,000 F 1)
gL—7 0.1 | 17K 6,000 F—ARS5YT
2.8
0.7
04
- Ak REFE T

REDFRMAR KEEEH

ABRHE

RO#HE




